
Please see Index for alternative O.E. part numbers.

These parts are Sparex parts and are not manufactured by the Original Equipment Manufacturer.

Original Equipment Manufacturers names, part numbers and descriptions are quoted for reference purposes only.

F10
Sparex Replacement

Spare Parts

Page No.

Electrical
and Related

Components

1 Starters, Starter Drives and Solenoids

2 Ignition Switches

3 Alternators, Generators and Regulators

4 Ignition, Tune-up Kits
and Related Components

5-6 Gauges and Related Components

7 Belts, Wiring Harness and Battery Box

8 Switches, Headlamps
and Related Components

9 Fender and Headlamp Assemblies
and Related Components

10 Headlamp Assemblies, Fender Lights
and Related Components (Dexta, Fordson Majors)



Please see Index for alternative O.E. part numbers.

These parts are Sparex parts and are not manufactured by the Original Equipment Manufacturer.
Original Equipment Manufacturer names, part numbers and descriptions are quoted for reference purposes only.

F10
Spare Parts for FORD
Tractors Built 1939 to 1964

TRACTOR MODELSPAREX
No.

DESCRIPTION EQUIVALENT

Starters,
Starter Drives,
and Solenoids

1 2 3

4 5 6 7

10 11 12
* Note:

Starter mounts

differently and

you must rewire,

but it works fine.

Use the S.60824

push button

starter switch for

this modification.

9

1 S.66423 Starter w/ Drive - 6 Volt 8N11001R 9N, 2N, 8N
NOT Rebuilt D8NN11350BA

1 S.66595 Starter w/ Drive - 12 Volt 9N, 2N, 8N
NOT Rebuilt

2 S.66619 Starter w/ Drive - 6 Volt C3NF11002D NAA, Jubilee, 600, 700, 800, 900, 601, 701, 801, 901, 2000, 4000
NOT Rebuilt  D8NN11350CA

2 S.66630 Starter w/ Drive - 12 Volt C3NF11002C NAA, Jubilee, 600, 700, 800, 900, 601, 701, 801, 901, 2000, 4000
NOT Rebuilt D8NN11350CA

3* S.60360 Starter - Quality Dexta, Super Dexta

3* S.60353 Starter - Quality D8NN11000CE Fordson Major, Power Major, Super Major (Mounts upside down)

3* S.65575 Starter - Economy Fordson Major, Power Major, Super Major (Mounts upside down)

4 S.66553 Starter Drive D8NN11350BA 9N, 2N, 8N

5 S.66617 Starter Drive D8NN11350CA NAA, Jubilee, 600, 700, 800, 900, 601, 701, 801, 901, 2000, 4000

6 S.61103 Starter Ring Gear - 9N6384 9N, 2N, 8N, NAA, Jubilee, 600, 700, 800, 900, 601, 701, 801, 901, 
Gas or Diesel (134 Teeth) 2000, 4000

7 S.65998 Starter Ring Gear - 6 Holes, 957E6384B Dexta, Super Dexta 
(122 Teeth)

8 S.66575 Copper Strap (Solenoid to Starter) 8N11518 8N 

9 S.61055 Solenoid 8N11450 8N

10 S.61056 Solenoid - 6 Volt NCA11450A NAA, Jubilee, 600, 700, 800, 900 (53-57)

11 S.61057 Solenoid - 6 Volt 311007 601, 701, 801, 901, 2000, 4000 (58-> 4 Cylinder Gas)

11 S.61049 Solenoid - 12 Volt 311006 601, 701, 801, 901, 2000, 4000 (Diesel, also Manifold Heater)

12 S.66323 Solenoid E1ADDN11450C Fordson Major, Fordson Power Major, Fordson Super Major,
9843617 Dexta, Super Dexta

1

8



1 - A
STARTERS, STARTER DRIVES AND SOLENOIDS

Sparex No. Price

1. S.66423 $165.00
1. S.66595 $158.08
2. S.66619 $174.07
2. S.66630 $174.07
3. S.60360 $184.73
3. S.60353 $421.23
3. S.65575 $210.83
4. S.66553 $87.97
5. S.66617 $42.27
6. S.61103 $30.83
7. S.65998 $95.00
8. S.66575 $2.88
9. S.61055                                                  $10.63

10. S.61056 $15.43
11. S.61057 $16.43
11. S.61049 $13.78
12. S.66323 $24.78

WE ARE NOT RESPONSIBLE FOR MIS-PRINTS OR PRICE CHANGES



Please see Index for alternative O.E. part numbers.

These parts are Sparex parts and are not manufactured by the Original Equipment Manufacturer.
Original Equipment Manufacturer names, part numbers and descriptions are quoted for reference purposes only.

Spare Parts for FORD
Tractors Built 1939 to 1964

F10

2

TRACTOR MODELSPAREX
No.

DESCRIPTION EQUIVALENT

Ignition
Switches

1 S.60617 Ignition Switch with Key - 8N3679C All Tractors 1939 - 1964 (Except Dextas and Majors)
Non Original Key

2 S.60185 Key For S.60617 Only

3 S.60366 Ignition Key - Original Switch 9N3685B All Tractors 1939 - 1964 (Except Dextas and Majors)

4 S.66813 Starter Switch - Restoration Quality 9N11450B 9N, 2N (w/ Safety Start)

5 S.60824 Starter/Manifold Heater Switch - 312133 601, 701, 801, 901, 2000, 4000 (w/ Select-O-Speed or Diesel Engine)
Push Button

6 S.66386 Ignition & Light Switch 957E11654 Dexta, Super Dexta

2

1

54 6

3

A 1 0 5 3



2 - A 
IGNITION SWITCHES

Sparex No. Price

1. S.60617 $9.86
2. S.60185 $0.90
3. S.60366 $0.53
4. S.66813 $24.18
5. S.60824 $8.95
6. S.66386 $52.88

WE ARE NOT RESPONSIBLE FOR MIS-PRINTS OR PRICE CHANGES



Please see Index for alternative O.E. part numbers.

These parts are Sparex parts and are not manufactured by the Original Equipment Manufacturer.
Original Equipment Manufacturer names, part numbers and descriptions are quoted for reference purposes only.

F10
Spare Parts for FORD
Tractors Built 1939 to 1964

Alternators,
Generators
and Regulators

1 S.61050 Alternator Conversion Kit - w/ Belt 8NE10300ALT 9N, 2N, 8N (w/ Front Mount Distributor)

2 S.61051 Alternator Conversion Kit 8NL10300ALT 8N (w/ Side Mount Distributor)
(Use Original Belt)

3 S.61020 Alternator Conversion Kit - w/ Belt NAA10300ALT NAA, Jubilee

4 S.61021 Alternator Conversion Kit 556410300ALT 600, 700, 800, 900, 601, 701, 801, 901, 2000, 4000
(Use Original Belt)

5 S.61090 Universal Alternator - Rebuilt 12 Volt Universal Alternator (Self-Exciting with Built-in Regulator)
Less Pulley

6 S.41157 Generator ADN10001 Fordson Major, Power Major, Super Major, Dexta, Super Dexta

7 S.65580 Regulator - Push-in Terminals EIADDN10505 Dexta (57-10/62), Fordson Major, Power Major (52-2/60)

8 S.41166 Regulator - Spade Terminals E27N10505F Dexta, Super Dexta (5/60-62), Fordson Power Major,
Super Major (2/60-12/64)

1 2

3 4

5 6 7 8

TRACTOR MODELSPAREX
No.

DESCRIPTION EQUIVALENT

3



3 - A
ALTERNATORS, GENERATORS AND REGULATORS

Sparex No. Price

1. S.61050 $211.47
2. S.61051 $206.38
3. S.61020 $223.30
4. S.61021 $206.38
5. S.61090 $111.90
6. S.41157 $141.75
7. S.65580 $47.78
8. S.41166 $42.82

WE ARE NOT RESPONSIBLE FOR MIS-PRINTS OR PRICE CHANGES



Please see Index for alternative O.E. part numbers.

These parts are Sparex parts and are not manufactured by the Original Equipment Manufacturer.
Original Equipment Manufacturer names, part numbers and descriptions are quoted for reference purposes only.

Spare Parts for FORD
Tractors Built 1939 to 1964

F10

4

65

4

TRACTOR MODELSPAREX
No.

DESCRIPTION EQUIVALENT

1 S.61914 Ignition Kit APN12000A 9N, 2N, (8N Front Mount Distributor)
Points, Condenser & Rotor B2NN12200A

2 S.61919 Ignition Kit CPN12000A (8N Side Mount Distributor), NAA, Jubilee, 600, 700,
Points, Condenser & Rotor C0NN12200A 800, 900, 601, 701, 801, 901, 2000, 4000

3 S.61352 Tune-up Kit - 4 Autolite 216 309786 9N, 2N, (8N Front Mount Distributor)
Std Tip Plugs, Points, Condenser,
Rotor, Gaskets (Hanger Display Pkg)

3 S.61353 Tune-up Kit - 4 Autolite 437 309786 9N, 2N, (8N Front Mount Distributor)
Extnd Tip Plugs, Points, Condenser,
Rotor, Gaskets (Hanger Display Pkg)

3 S.61354 Tune-up Kit - 4 Autolite 216 309787 (8N Side Mount Distributor), NAA, Jubilee, 600, 700,
Std Tip Plugs, Points, Condenser, 800, 900, 601, 701, 801, 901, 2000, 4000
Rotor (Hanger Display Pkg)

3 S.61356 Tune-up Kit - 4 Autolite 437 309787 (8N Side Mount Distributor), NAA, Jubilee, 600, 700,
Extnd Tip Plugs, Points, Condenser, 800, 900, 601, 701, 801, 901, 2000, 4000
Rotor (Hanger Display Pkg)

4 S.60308 Distributor Gasket Kit 9N12104 9N, 2N, (8N Front Mount Distributor)

5 S.61997 Spark Plug - Autolite 216 - Champion H10, H12 9N, 2N, 8N, NAA, Jubilee, 600, 700, 800, 900,
Standard Tip Motorcraft AL7, AL9 601, 701, 801, 901, 2000, 4000

5 S.61998 Spark Plug - Autolite 437 - Champion H14Y, H18Y  9N, 2N, 8N, NAA, Jubilee, 600, 700, 800, 900,
Extended Tip Motorcraft AL82 601, 701, 801, 901, 2000, 4000

6 S.66426 Distributor Cap 9N12106C 9N, 2N, (8N Front Mount Distributor)

7 S.66427 Distributor Cap NCA12106A (8N Side Mount Distributor), NAA, Jubilee, 600,
700, 800, 900, 601, 701, 801, 901, 2000, 4000

8 S.66606 Custom Spark Plug Wire Sets - Quality 8N12259 (8N Side Mount Distributor)
No Cutting or Fitting Required

9 S.66581 Custom Spark Plug Wire Sets - Quality CPN12259B NAA, Jubilee, 600, 700, 800, 900, 601, 701, 801, 901,
No Cutting or Fitting Required 2000, 4000

10 S.66441 Universal Spark Plug Set - 4 Cyl 9N12259B 9N, 2N, 8N, NAA, Jubilee, 600, 700, 800, 900,
High Quality Packard 440 Cable CPN12259 601, 701, 801, 901, 2000, 4000

10 S.66442 Universal Spark Plug Set - 4 Cyl 9N12259B 9N, 2N, 8N, NAA, Jubilee, 600, 700, 800, 900,
Standard Cable CPN12259 601, 701, 801, 901, 2000, 4000

11 S.02097 Universal Spark Plug Set - 4 Cyl 9N, 2N, 8N, NAA, Jubilee, 600, 700, 800, 900,
Straight Boot - 601, 701, 801, 901, 2000, 4000
High Quality Packard 440 Cable

12 S.60837 Coil - 6 Volt 9N12024 9N, 2N, (8N Front Mount Distributor)

12 S.60187 Coil - 12 Volt 9N, 2N, (8N Front Mount Distributor w/ 12 v Conversion)

13 S.61548 Coil - 6 Volt E8TF12029BA (8N Side Mount Distributor), NAA, 600, 700, 800, 900, 
601, 701, 801, 901, 2000, 4000

13 S.61016 Coil - 12 Volt - Non-Resistored D5TE12029AB (8N Side Mount Distributor), NAA, Jubilee, 600, 700, 800,
900, 601, 701, 801, 901, 2000, 4000 (w/ 12 v Conversion)

14 S.52671 Voltage Reducer w/ Bracket Universal
(12 Volt to 6 Volt)

1312

7

3

11

8 9

14

21

10

Ignition and
Tune-up Kits,

Distributor Caps,
Spark Plugs,

Wires and Coils



4 - A
IGNITION AND TUNE-UP KITS, DISTRIBUTOR CAPS,

SPARK PLUGS, WIRES AND COILS

Sparex No. Price

1. S.61914 $18.22
2. S.61919                                                   $10.60
3. S.61352 $25.82
3. S.61353 $25.82
3. S.61354 $17.50
3. S.61356 $17.50
4. S.60308 $2.85
5. S.61997 $2.57
5. S.61998 $2.77
6. S.66426 $13.75
7. S.66427 $10.84
8. S.66606 $17.90
9. S.66581 $12.75

10. S.66441 $19.92
10. S.66442                                                   $10.57
11. S.02097 $12.35
12. S.60837 $30.78
12. S.60187 $34.17
13. S.61548 $21.65
13. S.61016 $21.65
14. S.52671                                                  $11.55

WE ARE NOT RESPONSIBLE FOR MIS-PRINTS OR PRICE CHANGES



2

Please see Index for alternative O.E. part numbers.

These parts are Sparex parts and are not manufactured by the Original Equipment Manufacturer.
Original Equipment Manufacturer names, part numbers and descriptions are quoted for reference purposes only.

F10
Spare Parts for FORD
Tractors Built 1939 to 1964

Gauges and
Related Components

8N

7

8

4
OIL

1953/57

6
FUEL

9

3
TEMP

1

4
OIL

1958/64

5
AMP

9

11

20 40 60 800
AMPS

30
+

30
-

5
AMP

4
OIL

1

10

12

NORMAL

COLD HOT

WATER
TEMPERATURE

AMPS

30
+

30
-

20 40 60 800

5

13

AMPS

30
+

30
-

20 40 60 800



Please see Index for alternative O.E. part numbers.

These parts are Sparex parts and are not manufactured by the Original Equipment Manufacturer.
Original Equipment Manufacturer names, part numbers and descriptions are quoted for reference purposes only.

Spare Parts for FORD
Tractors Built 1939 to 1964

F10

6

TRACTOR MODELSPAREX
No.

DESCRIPTION EQUIVALENT

Gauges and  Related Components

1 S.60645 Proofmeter - Illuminated 8N17360A1 8N
(Bulb Included)

1 S.60766 Proofmeter - 4 Spd - Illuminated C3NN17360N NAA, Jubilee, 600, 700, 800, 900, 601, 701, 801, 901, 2000, 4000
(Bulb Included)

1 S.60765 Proofmeter - 5 Spd - Illuminated C3NN17360K 600, 700, 800, 900, 601, 701, 801, 901, 2000, 4000
(Bulb Included)

1 S.60454 Proofmeter - Select-O-Speed C3NN17360J 601, 701, 801, 901, 2000, 4000
Illuminated (Bulb Included)

2 S.61028 Proofmeter Cable - 34"  8N17365 8N

2 S.61060 Proofmeter Cable - 30 1/2"  B9NN17365B NAA, Jubilee, 600, 700, 800, 900, 601, 701, 801, 901, 2000, 4000

2 S.57806 Proofmeter Cable - 49"  EIADDN17365C Fordson Super Major (4/62->)

2 S.75961 Proofmeter Cable  957E17365C Dexta, Super Dexta (57-4/62)

3 S.61525 Temperature Gauge -  C3NN18287A NAA, Jubilee, 600, 700, 800, 900, 601, 701, 801, 901, 2000, 4000
Raised Bezel

4 S.61171 Oil Pressure Gauge - 40 lb FAD9273A 9N, 2N, 8N
(0-5 lbs - Red / 5-40 lbs - Green)
(Black Ring - Flat Bezel)

4 S.61063 Oil Pressure Gauge - 50 lb 9N9273A 9N, 2N, 8N
(Black Ring - Flat Bezel)

4 S.60758 Oil Pressure Gauge - 80 lb FAD9273A 9N, 2N, 8N, NAA, Jubilee, 600, 700, 800, 900, 601, 701, 801, 901,
(Black Ring - Raised Bezel) 2000, 4000

5 S.61162 30 Amp Ammeter - Illuminated A0NN10670A 9N, 2N, 8N, NAA, Jubilee, 600, 700, 800, 900 (->1957)
(Black Ring - Terminal Type)
(Bulb Included) Raised Bezel

5 S.66887 30 Amp Ammeter - Illuminated A0NN10670A 9N, 2N, 8N, NAA, Jubilee, 600, 700, 800, 900 (->1957)
(Black Ring - Terminal Type)
(Bulb Included) Flat Bezel

5 S.60759 30 Amp Ammeter - Illuminated A0NN10670A 9N, 2N, 8N, NAA, Jubilee, 600, 700, 800, 900 (->1957)
(Chrome Ring - Terminal Type)
(Bulb Included) Raised Bezel

5 S.61064 50 Amp Ammeter - Illuminated A0NN10670A 9N, 2N, 8N, NAA, Jubilee, 600, 700, 800, 900 (->1957)
(Chrome Ring - Terminal Type)
(Bulb Included)

6 S.61420 Fuel Gauge - 6 Volt - Illuminated 310948 601, 701, 801, 901, 2000, 4000

6 S.61421 Fuel Gauge - 12 Volt - Illuminated 310949 601, 701, 801, 901, 2000, 4000

7 S.61422 Fuel Sender - 310938 601, 701, 2000 (1958-1964 Gas or Diesel)
 6 or 12 Volt 310939

7 S.61423 Fuel Sender - 310940 801, 901, 4000 (1958-1964 Gas or Diesel)
 6 or 12 Volt 310941

8 S.51148 Light Bulb - 12 Volt S.60645, S.60765, S.60766, S.61162, S.60759, S.61064

9 S.61993 Throttle Rod Grommet 353873S NAA, Jubilee, 600, 700, 800, 900, 601, 701, 801, 901, 2000, 4000

10 S.60763 Throttle Plate  8N9889A 8N

11 S.53165 Instrument Panel Light Assembly NCA13771A NAA, Jubilee, 600, 700, 800, 900, 601, 701, 801, 901,
6 volt C3NN14662A 2000, 4000

C3AB13466B

11 S.66854 Instrument Panel Light Assembly NCA13771A NAA, Jubilee, 600, 700, 800, 900, 601, 701, 801, 901,
12 volt C3NN14662A 2000, 4000

C3AB13466B

12 S.66861 Instrument & Gauge Kit NAA, Jubilee, 600, 700, 800, 900 (->57 w/ 4 Speed Transmission)

12 S.66896 Instrument & Gauge Kit 600, 700, 800, 900 (->57 w/ 5 Speed Transmission)

13 S.60021 Instrument & Gauge Kit 8N



6 - A
GAUGES AND RELATED COMPONENTS

Sparex No. Price

1. S.60645 $61.36
1. S.60766 $55.00
1. S.60765 $61.36
1. S.60454 $61.36
2. S.61028 $15.05
2. S.61060                                                   $18.41
2. S.57806 $23.00
2. S.75961 $30.17
3. S.61525 $25.80
4. S.61171 $14.13
4. S.61063 $11.99
4. S.60758 $14.52
5. S.61162 $8.89
5. S.66887 $7.30
5. S.60759 $8.80
5. S.61064 $6.03
6. S.61420 $32.94
6. S.61421 $31.97
7. S.61422 $42.70
7. S.61423 $42.78
8. S.51148 $0.72
9. S.61993 $1.94

10. S.60763 $12.00
11. S.53165 $30.48
11. S.66854 $30.03
12. S.66861                                                $119.42
12. S.66896                                                $111.05
13. S.60021 $67.55

WE ARE NOT RESPONSIBLE FOR MIS-PRINTS OR PRICE CHANGES



Please see Index for alternative O.E. part numbers.

These parts are Sparex parts and are not manufactured by the Original Equipment Manufacturer.
Original Equipment Manufacturer names, part numbers and descriptions are quoted for reference purposes only.

F10
Spare Parts for FORD
Tractors Built 1939 to 1964

Belts, Wiring Harness
Battery Box and
Jumper Cables

1

TRACTOR MODELSPAREX
No.

DESCRIPTION EQUIVALENT

1 S.18834 Belt - Generator - Water Pump 86520008 9N, 2N (8N w/ Front Mount Distributor)
(5/8" x 45") 9N8620B

1 S.18833 Belt - Alternator - Water Pump 9N, 2N (8N w/ Front Mount Distributor) (w/ S.61050 Alternator Kit)

1 S.18830 Belt - Generator - Water Pump 86520007 (8N w/ Side Mount Distributor), NAA, Jubilee,
(5/8" x 41 1/2") 8N8620 (NOTE: Also used w/ S.61020 Alternator Kit)

1 S.18722 Belt - Generator - Water Pump 75629 600, 700, 800, 900, 601, 701, 801, 901, 2000, 4000
(1/2" x 42") EAF8577A

1 S.11174 Belt - Generator - Water Pump E1ADKN8620C Dexta, Super Dexta, (Fordson Major, Fordson Power Major,
(1/2" x 45") Fordson Super Major 9/54-64)

2 S.66817  Wiring Harness - Main 2N14401 (9N, 2N w/ Generator)
9N14401C

2 S.66818  Wiring Harness - Main 8N14401B (8N w/ Front Mount Distributor & Generator)

2 S.66819 Wiring Harness - Main 8N14401C (8N w/ Side Mount Distributor & Generator)

2 S.66820 Wiring Harness - Main FAF14401B (NAA, Jubilee w/ Generator)

3 S.60610 Battery Box 8N10732 8N

3 S.60611 Battery Box - Gas C0NN10732T NAA, Jubilee, 600, 700, 800, 900, 601, 701, 801, 901, 2000, 4000

4 S.20556 Jumper Cable - Extra Heavy Duty -
2 Gauge Copper Wire (20�)

5 S.20557 Jumper Cable Clamps (Qty 2)
Red/Black Zinc Plated Steel
Extra Heavy Duty

2

3

7

54



7 - A
BELTS, WIRING HARNESS, BATTERY BOX AND 

JUMPER CABLES

Sparex No. Price

1. S.18834 $6.10
1. S.18833                                                   $10.45
1. S.18830 $6.67
1. S.18722 $6.30
1. S.11174 $7.05
2. S.66817 $17.05
2. S.66818 $19.02
2. S.66819 $18.17
2. S.66820 $17.50
3. S.60610 $69.87
3. S.60611 $81.03
4. S.20556 $158.98
5. S.20557 $17.13

WE ARE NOT RESPONSIBLE FOR MIS-PRINTS OR PRICE CHANGES



Please see Index for alternative O.E. part numbers.

These parts are Sparex parts and are not manufactured by the Original Equipment Manufacturer.
Original Equipment Manufacturer names, part numbers and descriptions are quoted for reference purposes only.

Spare Parts for FORD
Tractors Built 1939 to 1964

F10

8

Battery
Accessories

TRACTOR MODELSPAREX
No.

DESCRIPTION EQUIVALENT

1 S.20561 Battery Terminal - Heavy Duty - (Card of 10) Fits 6 to 2/0 gauge cables

2 S.20570 Battery Bolt & Nut (5/16"-18 x 1 1/4")

3 S.20545 Braided Straps - Flat  - 2 Gauge (7") Fits up to 3/8" Stud

3 S.20546 Braided Straps - Flat  - 2 Gauge (9") Fits up to 3/8" Stud

3 S.20547 Braided Straps - Flat  - 2 Gauge (11") Fits up to 3/8" Stud

3 S.20548 Braided Straps - Flat  - 2 Gauge (14") Fits up to 3/8" Stud

3 S.20549 Braided Straps - Flat  - 2 Gauge (16") Fits up to 3/8" Stud

3 S.20550 Braided Straps - Flat  - 2 Gauge (19") Fits up to 3/8" Stud

3 S.20551 Braided Straps - Flat  - 2 Gauge (24") Fits up to 3/8" Stud

4 S.20552 Battery Cable - Top Post - Black - 2 Gauge (10") Fits up to 3/8" Stud

4 S.20553 Battery Cable - Top Post - Black - 2 Gauge (15") Fits up to 3/8" Stud

4 S.20554 Battery Cable - Top Post - Black - 2 Gauge (20") Fits up to 3/8" Stud

4 S.20555 Battery Cable - Top Post - Black - 2 Gauge (23�) Fits up to 3/8" Stud

4 S.20567 Battery Cable - Top Post - Black - 2 Gauge (27") Fits up to 3/8" Stud

4 S.20568 Battery Cable - Top Post - Black - 2 Gauge (32") Fits up to 3/8" Stud

4 S.20569 Battery Cable - Top Post - Black - 2 Gauge (34") Fits up to 3/8" Stud

5 S.20564 Battery Carry Strap for Post Terminal Batteries (14")

6 S.20563 Battery Terminal Puller

7 S.20565 Battery Terminal Spreader

8 S.20562 Terminal Protectors - Red/Black (Card Qty 2)

9 S.20594 Terminal Protectors - Black (Can Qty 100)

10 S.20558 Battery Tester - Dial indicats battery charge & specific gravity

11 S.20559 Temperature Correcting Battery Hydrometer -
Temperature & Float Calibrated Reading

43 5

2

6

9
Battery Terminal
Protectors

10 11
7

8

1



8 - A 
BATTERY ACCESSORIES

Sparex No. Price

1. S.20561 $13.73
2. S.20570 $0.48
3. S.20545 $8.47
3. S.20546 $8.58
3. S.20547 $9.18
3. S.20548 $9.68
3. S.20549 $9.60
3. S.20550                                                   $10.22
3. S.20551 $12.08
4. S.20552 $6.83
4. S.20553 $8.00
4. S.20554 $9.42
4. S.20555                                                   $10.30
4. S.20567 $11.02
4. S.20568 $11.55
4. S.20569 $12.43
5. S.20564 $4.18
6. S.20563 $5.87
7. S.20565                                                  $10.45
8. S.20562 $1.52
9. S.20594 $14.18

10. S.20558 $6.73
11. S.20559 $7.47

WE ARE NOT RESPONSIBLE FOR MIS-PRINTS OR PRICE CHANGES



7

8

TRACTOR MODELSPAREX
No.

DESCRIPTION EQUIVALENT

Switches, Headlamps
and Related
Components

1 S.60828 Light Switch w/ Fuse 8N11654B 9N, 2N, 8N, NAA, Jubilee

2 S.60829 Light Switch - Quality FDN11654A 600, 700, 800, 900, 601, 701, 801, 901, 2000, 4000

3 S.60830 Light Switch - Economy FDN11654A 600, 700, 800, 900, 601, 701, 801, 901, 2000, 4000

4 S.66850 Worklight Switch 21C13740 8N, NAA, Jubilee

5 S.66418  Original Style Headlight Assembly 2N13005C 8N
 6 Volt - Sealed Beam 2N13006C

5 S.66419  Original Style Headlight Assembly 8N
 12 Volt - Sealed Beam

6 S.66576 Headlight Ring (3/4" Thick) 2N13043 8N 

7 S.61633 Headlamp - 6 Volt (6") - Gray Steel Body with Rubber Bezel, Non-sealed Beam

7 S.61635 Headlamp - 6 Volt (6") Steel Body with Rubber Bezel, Non-sealed Beam
Black Primer

7 S.61634 Headlamp - 12 Volt (6") - Gray Steel Body with Rubber Bezel, Non-sealed Beam

7 S.61636 Headlamp - 12 Volt (6") Steel Body with Rubber Bezel, Non-sealed Beam
Black Primer

8 S.61890 Bulb - 6 Volt Fits S.61633, S.61635

9 S.04776 Halogen Bulb - 12 Volt Fits S.61634, S.61636

10 S.66415 Sealed Beam Bulb  - 6 Volt (6") 310061 S.66418 Plus Original Headlamp

10 S.66416 Sealed Beam Bulb - 12 Volt (6") 310062 S.66419 Plus Original Headlamp

11 S.66561 Winged Headlight Brackets - RH 9N, 2N, 8N

12 S.66562 Winged Headlight Brackets - LH 9N, 2N, 8N 

13 S.66599 Steel Headlight Socket - Primer 8N13472BGA 9N, 2N, 8N, NAA, Jubilee, 600, 700, 800, 900, 601, 701,
Restoration Quality 801, 901, 2000, 4000

14 S.66600 Reinforcement Plate for Headlight FAA13102A Same as Above

3

12

1110

6

41 2

5

19/32"

23/32"

1 3/8"
9

1 1/2"

H1
1/4"

Please see Index for alternative O.E. part numbers.

These parts are Sparex parts and are not manufactured by the Original Equipment Manufacturer.
Original Equipment Manufacturer names, part numbers and descriptions are quoted for reference purposes only.

F10
Spare Parts for FORD
Tractors Built 1939 to 1964

1413

9



9 - A
SWITCHES, HEADLAMPS AND RELATED COMPONENTS

Sparex No Price

1. S.60828                                                  $11.98
2. S.60829 $8.99
3. S.60830 $7.47
4. S.66850 $12.27
5. S.66418 $50.42
5. S.66419 $50.42
6. S.66576 $17.95
7. S.61633 $33.48
7. S.61635 $30.62
7. S.61634 $33.48
7. S.61636 $33.48
8. S.61890 $3.38
9. S.04776 $5.87

10. S.66415 $14.22
10. S.66416 $12.54
11. S.66561 $30.12
12. S.66562 $30.12
13. S.66599                                                  $11.22
14. S.66600 $6.30

WE ARE NOT RESPONSIBLE FOR MIS-PRINTS OR PRICE CHANGES



Headlamp Assemblies,
Fender lights and

Related Components
(Dexta, Fordson Majors)

TRACTOR MODELSPAREX
No.

DESCRIPTION EQUIVALENT

1 S.66731 Headlight Assembly - RH  957E13002 Dexta, Fordson Major, Fordson Power Major
Side Mount

1 S.66732 Headlight Assembly - LH 957E13003 Dexta, Fordson Major, Fordson Power Major
Side Mount

2 S.66733 Headlight Assembly - 957E13002B Super Dexta, Fordson Power Major, Fordson Super Major
Inset in Grill D2NN13005D

3 S.66867 Fender Light Assembly - RH D2NN13N200A Dexta, Super Dexta

4 S.66866 Fender Light Assembly - LH  D2NN13N201A Dexta, Super Dexta

5 S.42728 Replacement Lens - Red Dexta, Super Dexta

5 S.42729 Replacement Lens - Clear Dexta, Super Dexta

6 S.42730 Replacement Rubber Seal Dexta, Super Dexta

7 S.66844 Fender Light Assembly - LH/RH E1ADKN13202B Fordson Major, Fordson Power Major, Fordson Super Major

8 S.66746 Rear Fender Light - RH E1ADKN13404B Fordson Major, Fordson Power Major, Fordson Super Major

8 S.66734 Rear Fender Light - LH E1ADKN13405B Fordson Major, Fordson Power Major, Fordson Super Major

Please see Index for alternative O.E. part numbers.

These parts are Sparex parts and are not manufactured by the Original Equipment Manufacturer.
Original Equipment Manufacturer names, part numbers and descriptions are quoted for reference purposes only.

Spare Parts for FORD
Tractors Built 1939 to 1964

F10

10

7

1 2

8
4

3

5

6



10 - A
HEADLAMP ASSEMBLIES, FENDER LIGHTS AND

RELATED COMPONENTS
(Dexta, Fordson Majors)

Sparex No. Price

1. S.66731 $32.33
1. S.66732 $32.33
2. S.66733 $34.10
3. S.66867 $51.07
4. S.66866 $57.38
5. S.42728 $7.10
5. S.42729 $7.10
6. S.42730 $7.10
7. S.66844 $137.42
8. S.66746 $97.60
8. S.66734                                                 $103.67

WE ARE NOT RESPONSIBLE FOR MIS-PRINTS OR PRICE CHANGES




